
	Trehalose concentration
	0 M
	0.2 M
	0.5 M
	1.0 M

	Water weight
	W0
	738.9 ± 35.8
	663.3 ± 29.7
	418.4 ± 21.2
	316.5 ± 16.5

	
	We
	36.5 ± 21.5
	23.8 ± 15.3
	29.5 ± 9.8
	54.4 ± 6.9

	
	k
	0.1309 ± 0.0118
	0.1622 ± 0.0197
	0.2053 ± 0.03
	0.2973 ± 0.0582

	
	R2
	0.865
	0.887
	0.851
	0.810

	Water percentage
	W0
	91.0 ± 3.4
	81.7 ± 2.1
	71.0 ± 1.9
	54.1 ± 2.1

	
	We
	5.7 ± 2.1
	3.9 ± 1.0
	5.7 ± 0.8
	8.6 ± 0.9

	
	k
	0.1279 ± 0.0139
	0.1845 ± 0.0131
	0.2637 ± 0.7893
	0.27 ± 0.0366

	
	R2
	0.91
	0.959
	0.955
	0.889
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